Engineering Mathematics-I 2019-course Unit-Ill Partial Differentiation MCQ’S
1) If u = log(tan x + tan y + tan z) then Z—Z is

A)etsec?x

B) e “sec?x

C) e?“sec?x

D) e ?%sec?x

Ans:B

2) If u = log(tanx + tan y + tan z) then Z—i is

A)e Usec?y

B) e “sec?x

C) e?“sec?x

D) e %“sec?y

Ans:A

3) If u = log(tanx + tan y + tan z) then Z—Z is
A)2eYsec?z

B) 2e “sec?z

C) e?“sec?z

D) e ¥sec?z

Ans:D

4) If u = x¥ then u, is
A) x¥~1

B) yx”

C)yx¥~1

D) xy*~1

Ans :C

5)Ifu = x” thenu,, is

A)xY log x



B) x¥ logy
C) y*logx
D) x™Y logx

Ans:A

ou 0%u
|f — y nd— = y_lh n_l
6) u=Xx adax—yx teaaxs

A) xY[1 + ylogx]
B)xY~1[1 + ylogx]
C) x¥7 11 + xlogy]
D) x¥[1 + ylogx]
Ans:B
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ou J°u
7)If u=xYand a5y X log x then 370y

is
A)xY[1+ ylogx]
B)xY 1[1 + ylogx]
C) xY7 1+ xlogy]
D) x¥[1 + ylogx])
Ans:B
8)Ifu = f(r)andr = @(x,y,z) then
du _ ., 6_1‘
A= f'(r)4-
du " or
B)—=f"(r) -
du ’ ar
Q=10
du 1 ar
D)—=f"(r)—

Ans: A

9)ifu=f(r)andr = /x2 + y2 + 22 theng—z is
A) ()=
B) ' (N5



QOf"'M5
D)f' (1)~

Ans: D

10) Ifu = f(r) and ¥ = \/x2 + y2 + 22 then Z—’y‘ is
A)f'(r)>

B) f"(1):

Qf' =

D) f'(r) %

Ans: A

11)If x =rcos6 and y = rsin 0 then (Z—i)e is

A)rcos 6
B)cos 6
C)sin6
D) rsin @
Ans :B

12))If x = rcosf and y = rsin 0 then (g—i) is
X

2
A)=
)y
T
B);
o)t
)y

T'Z
D)ﬁ
Ans : C

13)If z is a homogeneous function of x, y of degree n then

ou u
A)XE'F}/E—H
ou ou
B)x£+y$—nu



ou ou
C)a+5—nu

ou ou
D)a‘l‘@— u
Ans:B

14) If z is a homogeneous function of x, y of degree n then

2 azu azu 2 62_u _

A)x®—— + 2xy 3%0y +y 37 n(n+ Du
2 azu azu 2 62_u _ _

B) x Fyri 2xy 3y +y 37 (n—1Du
2 0%u 0%u 2 0%u

C)x®o— +2xy 3%y +y 3z~

D)xzaz—u+2x ou 2az—u—n(n—l)u

dx? Yoxay 7Y a2 =

15) If z is a homogeneous function of x, y of degree n and z = f(u) then

B)xZ—z+yZ—1; =nu
O + yz_; - "j;,(%)

Ans:A

16) If z is a homogeneous function of x, y of degree n and z = f(u) then

92 a2 02 ’
AIX? 55+ 2xy 7 + 92 5 = gwlg' (W) + 1] where g(w) = n£2
92 92 0% / ! ( )
B)x? 55+ 2xy 5+ ¥2 22 = g' (g’ (W) — 1] where g(w) =n L2
2 az_u azu 2 az_u _ ! _ —_ M
X 5 T 23 55, 177552 = WG’ (W) — 1] where g(u) =n 7.5

0%u
0xdy

fw
f'w

2 62u 2 62u ]
D)x Fyri 2xy +y 3 [g'(w) — 1] where g(u) =n

Ans:C

Xy+yz .
17)cos (L) is a
x%+y2+2z2



A) Non-homogeneous function.

B) Homogeneous function of degree zero.
C) Homogeneous function of degree one.
D) Homogeneous function of degree two.

Ans: B
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18) If u = tan™?! [%] then

A) u is a homogeneous function of degree one.
B) tan u is a homogeneous function of degree one.
C) u is a homogeneous function of degree zero.
D) tanu is a homogeneous function of degree zero.

Ans: B

19)If x? = av/u + b\/v and y? = avu — b\/v where a, b are constants then (g—z) is

v
a

A
a
B v
a

C)4x\/ﬂ

a

D) 4x2\u
Ans: C

20) If x2 = avu + bvv and y? = avu — b\/v where a, b are constants then (Z—z) is

u

A) = 4ybx/5
B) 4yb\/§
Sl
Ans: A

21)Iif x =utanv,y = usecv then (a_u) is
Ox y



ou

22)If x =utanv,y = usecv then (a_) is

Y/ x
y
A)u
B _Y
u
y
C)F
yZ
D) "
Ans: A

23) If x and y are independent variables and z is a function of x,y z3 — zx — y = 4 then g—i is
A)
B)
Q)

z
3z2+x

1

3z2—x

V4

3z2-x
72

3z2—x

D)
Ans: C

24) If x and y are independent variables and z is a function of x,y z3 — zx — y = 4 then Z_JZ, is

z
3z2+x

A)
B)
C)

1

3z%2—-x

Z

3z2-x
72

3z%2—x

D)

Ans: B



_ 2, .2 o%u
25) If u = log(x“ + y*) then Syox S

—4xy
(x2+y2)2

A)

4xy
(x2+y2)2

B)
—4
(x2+y2)2
4
(x2+y?)2

C)

D)

Ans: A



